-y k21 _
S 1 ol 6 —L-D
) 10 4y. =10
X C\E
( :,i The number of elements in a 3™ order determinant is
(1) ‘lﬁ (2) 4
@ oy 9 Ty B
A ; A 2
~ 1 5 6 -‘(_i%_L!G.)_{_C;{_]L-\-%)JIL[\D.T
3 Value of the determinant L g e R r 1
Y gt 41
1) - 5 ()~
R )
d . A0
o | fk'}{ - D
N I 5= () then the value of x is
—-X i L 1 I - {_-
3 A > ,
RS e LY 4 RS L= &
1 I : o
: 2 o 2
(3) 3 ,6&‘0&% (4) ria
N
\ | cos® sin® |
5.~~ The numerical value of | | is
cosec 8 —sec O
1) 1 2) -1
3) -2 4) 2
11 AR
@ The value of the determinant | 94 95 96 | is
97 98 99
(2) 1140
4) 114




3 4 -
@ W ";:3and;";=lﬁ,thcnyisequal o

(-3 *uy = 3) €

(-5 43¢ = v )3
f - W o - 1§14 + 20 = 1V
i @ : AT
. 3) -3 4 3
o~ A s
é’ If | 4 6 1 | =0, then the value of x is ]
L S
g o
(;\' ) 3 Qr’ 2
3) 2 4) =2
| 3x+2 =2
/; If | b | = 10, then the values of x are 2
| ] 2x+1 |
10 ROETR b
(1) 3°3 < El 7
<N \(@v(’
':I \(\‘b‘\'
ol Gl &> B 3l
® 373 "33
. 5 -17 . 1
- 10. IfA= ,then A' is
{ ( & 2
L
5 =1 f_' 2 .=1 }
(1) [3 g } JAEY LY
L ' Sl
M } @ g2 ]
g L
5 A
s02 & /




.then adj A is

(1) ' Pl
b e T3 "'j_':g
il s ?] Ms 2 |7 e
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The area of a sector of a circle of radius °r* and central angle *0'radian is given by
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AJ1 = cos?6 is equal to
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" '{3) sin B

1 + tan?0 .

yEn is equal to
(1) sinB
(3) cotB

(1) sec? . cosec’0
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From the top of a cliff the angle of depression of an object 200 m from the base is 30°.
The height of the cliff is
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